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Subtracting - borrowing across three zeros
Grade 3 Subtraction Worksheet

Find the difference.

1. 6,000 2. 2,000 3. 1,000
- 1,358 - 459 - 717
49,000 5. 2,000 6. 7,000
- 2,515 - 346 - 551
7. 2,000 8. 1,000 9. 4,000
- 1,824 - 236 - 1,233
10. 3,000 11..2,000 12. 6,000
- 411 - 780 - 3,380
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Subtracting - borrowing across three zeros
Grade 3 Subtraction Worksheet

Find the difference.

1. 6,000 2. 2,000 3. 1,000
- 1,358 - 459 - 717
4,642 1,541 283

4. 9,000 5. 2,000 6. 7,000
- 2,515 - 346 - 551
6,485 1,654 6,449

7. 2,000 8 1,000 9. 4,000
- 1,824 - 236 - 1,233

176 764 2,767

10. 3,000 11. 2,000 12. 6,000
- 411 - 780 - 3,380
2,589 1,220 2,620
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